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QUESTION 1

A company plans to emit Common Base Events to monitor the service level agreements for the Integration Bus
application. To achieve this, a solution developer has to produce monitor profiles to emit events. 

Which XPath expression can the developer use to produce suitable results? 

A. $Body/Message 

B. $LocalEnvironment 

C. $Root/Soap/Body 

D. $Root/Soap/Header 

Correct Answer: B 

 

QUESTION 2

A solution developer needs to developa generic message handler that is common to all applications and message flows.
The message handler parses a complex file than contains healthcare records and extracts Patient Eligibility requests.
The developer wants to make and deploy changes to the message handler without redeploying all the message flows. 

How should the developer define the Integration Bus artifacts? 

Define the message handler as: 

A. a subflow in a library and define the message flows as services that reference the library. 

B. a subflow in a library and define the message flows as applications that reference the library. 

C. a subflow in a library and define the message flows as independent resources that reference the library. 

D. an integrationservice and define the message flows as applications that reference the integration service. 

Correct Answer: D 

 

QUESTION 3
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TheDocTypefield in the record identifies the document type and contains PO when the record is for a 

purchase order and ACK when it is an acknowledgement. 

The format of each record is the same except for theShipDatefield.When the document type is 

ACK,ShipDateis in the record. When the document type is PO,ShipDateis not in the record. 

What change can the developer make to the DFDL model to handle the differences in the record format 

and prevent parsing errors when parsing a file that contains both types of records? 

A. Add a choice element before theShipTypeelement 

B. Add an asset toShipDatethat testsDocType=ACK 

C. Add a discriminator toShipDatethat testsDocType=ACK 

D. Change theMinOccursproperty to 0 (zero) forShipTypeto make it an optional field 

Correct Answer: D 

 

QUESTION 4

The following messages are sent to the MQ Input node, as described below: 

 0 A  

 1 B  

 2 C  

4 E 
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 6 G  

a delay of 11 seconds 

 5 F  

a delay of another 11 seconds 

 3 D  

What is the end result of processing this messages, using the "Value" element arriving in the specific order 

listed? 

A. A, B, Con MQ Output;F,Don MQ Output Failure; andE,Gon MQ Output Expire. 

B. A, B, Con MQ Output;F,Don MQ Output Missing; andE,Gon MQ Output Expire. 

C. A, B, Con MQ Output;D, Fon MQ Output Failure; andE,Gon MQ Output Expire. 

D. A, B, Con MQ Output;D, Fon MQ Output Failure; andE,Gon MQ Output Failure. 

Correct Answer: D 

 

QUESTION 5

A solution developer is using accounting and statistics data to find a performance issue withina message flow. 

Which type of statistics should the developer use? 

A. Node statistics 

B. Thread statistics 

C. Terminal statistics 

D. Message flow statistics 

Correct Answer: D 

C9530-404 PDF Dumps C9530-404 Practice Test C9530-404 Study Guide

Powered by TCPDF (www.tcpdf.org)

C9530-404 PDF Dumps | C9530-404 Practice Test | C9530-404 Study Guide                                4 / 4

https://www.pass4itsure.com/c9530-404.html
https://www.pass4itsure.com/c9530-404.html
https://www.pass4itsure.com/c9530-404.html
http://www.tcpdf.org
https://www.pass4itsure.com/c9530-404.html
https://www.pass4itsure.com/c9530-404.html
https://www.pass4itsure.com/c9530-404.html

